Axt A7 Vg 2

Q@ 87+49-58

© 52— (24 + 15)

© 102-76+45

@ 200 - (73 + 58)

5 L
=%




o] 7}

™
)

—_
fife)

bl
mjn

i
Ho

ol

™

o
TR
o

172

i

— |00






4.

Oa= Al 2.

4 5
2= +4—
U
5 31 8 11 1
6 6—— = — =
© 65 @ 65, ® 63 @® 655 ® 73




1A [ ool gure 2 2 gz

9|

o
o] -3

5.




6.

the BAARG ] Yol S FokA,




7.

O E3 9] "olE oA L.

_--1lem- < _

T12ecm o



= AolA 71 ©A Aldtsop & A2 of

17-46%x14+7+3

@® 17-46

@ 7+3

@ 46x 14

® 46x14=7

® 14+7




9.

A=2X2X3Xx7 B=2x3X7X7

@® 2x3

@ 2x3x7

® 2x3xTx2x7
@ 2x3xTx2x3x7

® 2X2X2Xx3X3XTXTXT



i
=

45 A} <

0
ZH

ar
o

10.

B



2.

S






0|

b~ |00

0| ©

(Sl Kael

— |






4542 F|obEs Uend o, 2R} 7}

7K

® 0.4 @ 0.65 ® 0.9

@ 0.3

D 0.25



16.




17. AR F3o} g 2 22 olm AYU7R

D 58 -33+29 @ 35+ 60— 46
® 100 - (25 + 50) @ 23+ (98 -66)

® 28-15+9



7F?

72+3x8+13 =16
@ 72+3%x(8+13)=16 @ 72+ (3x8)+13=16
® (72+3)x8+13=16 @ (72+3)x (84 13) =16

® 72+ (3x8+13)=16



s Ol +, -, x, + 9] 7|55 e W Y2 A

A

70 (54 O 6)=63

D x, =+

@ +,x

® x,+

@ x, -

® +, -

Ke3
-



20. 158 2007H4 9] A% FoIA 18] Hl5E B ALY

e & 4l



21. 289] )5 FolA] 7Hg 2 A A2 58 FopA 2.

5 Rog
2%



22.

o]

FHTEAA 3 3 B2 S F2 600 Y, AE 5 AF
SF 2ol 550 Yol Byt 6000 Y2 54 yiro] FA 3 Ay
3

v
=

4> O o mju

A
A 7 9 2] SAgel A Sgro] ko] Felx @ ), & B
7270 Sl 2] 3 42 PetAL. (&, BT ABE YAz A

R

aa: A



)
)
)

Utk the & FHol vh2A| H7 ¢

270570270
N =N |O
—~ZIRTF2IB

~ S . . .

TN oo o0 |0

— |© ,273172276
,Gim(/l\(

& TEe— 1 1
BX 0 T o —~—
T3 e o
— . . .

1=}
=

L NP AN A



Az

H
=

<t >

[N}
o

0|

N
N

7}, W H
9 9
ot ¥ 3 7Holl Eol
T

24.



25.

A

T2 e S8 22E 10

SEH A2 B5 & AL F9i9]

@2,5 @4,5 @4,8



26.

458 71

T2 2tz el AS vteA g

al

A

(1) 1.4 (2) 0.65
1 5 2 5 2 13
1=, 2 12,2 12, =
VI O B T
1=, — 1=, —
@ 5 100 © 57 50

Ke3
—



27, F=l "ollA stk o] A== 3

& 7toF Tz

2 23 11

2- k 2°° — k
@ 33 m @) ?g m ©) 320 m
@ 4= km ® 5— km

60 60



8

LE

7
M 45

=%

#Ut A4 ol

%
il

0 [©

=5l &0l 7

28.

o1
12

—L 4
12 ©

@ 3



il

n

[]




o] AoteIuiz?

19
60

©)

11
15



@] e}

B
N

1a

A

uze]

s

—_

©]7} 200cm ¢

y

Nl

94

of ol

gl

o

cm® QY7E?

)

sz



32. O &%
& =90 §olE Fohr e




33. ohg m=golA 4




